QAMP Checkpoint 2

Work done after Checkpoint 1:

1. Practice how to write and form programs in Rust
Doing this was easy since | already had a good hand over C/C++. However, studying advanced
syntax methods/techniques required at the level of the repository were a bit hard to catch up at
first. It took me quite some time to get used to writing a program in Rust.

2. Construct program for implementing Triangular Lattice Graph (graph generator)
The overall code segment for implementing a graph generator is completed. Although there are
still some errors and failing tests in the prepared code, | am working on rectifying them. The next
step would be to push the code onto the repository and perform further tests to finally merge.

3. Understand basic GitHub commands and automated Python testing
Grasped a few new techniques and libraries that are, for example, used to automate Python
testing (tox) and building Rust programs (cargo build). These commands are used quite
frequently and overall helped me understand how open-source development is done.

4. Working on a few more graph generators

| am simultaneously trying to resolve issues with the triangular lattice program and also code
other generators like a few random graphs.

Any difficulties faced?

Not much but it is sometimes hard to figure out why tests are failing and the rectification process
consumes a lot of time.



Required Visual Representation:

1. Code building
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2. Creating Tests for the above code
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3. Building the Rust code - using cargo build
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4. Running the tests - using tox -epy

(retworkx-env) saasha@Inspiron: $ tox -epy

GLOB sdist-make: /home/saasha/SublimeText/rust/retworkx/setup.py

py inst-nodeps: /home/saasha/SublimeText/rust/retworkx/.tox/.tmp/package/1/retworkx-0.11.0.zip

py installed: attrs==21.2.0,autopage==0.4.0,cliff==3.9.0,cmd2==2.2.0,colorama==0.4.4,cycler==0.11.0,extras==1.0.0,fixtures==3.0.

pbr==5.7.0,Pillow==8.4.0,prettytable==2.4.0,pyparsin 3.0.4,pyperclip==1.8.2,python-dateutil==2.8.2,python-subunit==1.4.0,PyYAM

,stestr==3.2.1,stevedore==3.5.0,testtools==2.5.0,toml==0.10.2,voluptuous==0.12.2,wcwidth==0.2.5

py run-test-pre: PYTHONHASHSEED='2805345702'

py run-test: commands[0] | stestr run

{3} digraph.test_adj.TestAdj.test_out _direction [0.000467s] ... ok
digraph.test_adjacency_matrix.TestDAGAdjacencyMatrix.test_default_weight [0.800524s5] ... ok
digraph.test_adjacency_matrix.TestDAGAdjacencyMatrix.test_negative_weight [0.000240s5] ... ok
digraph.test_adjacency_matrix.TestDAGAdjacencyMatrix.test_no_weight_fn [08.000594s] ... ok
digraph.test_adjacency matrix.TestDAGAdjacencyMatrix.test_random_graph_full_path [0.863761s] ... ok
digraph.test_adjacency matrix.TestFromComplexAdjacencyMatrix.test_random_graph_complex_dtype [0.0005755]
digraph.test_all_simple_paths.TestDAGAllSimplePaths.test_all_simple_path_no_path [0.0003825] ... ok
digraph.test_all_simple_paths.TestDAGAllSimplePaths.test_all_simple_paths_min_depth ' [0.080118s5] ... ok
digraph.test_all_simple_paths.TestDAGALLSimplePaths.test_graph_digraph_all_simple_paths [08.880390s] ... ok
digraph.test_ancestors_descendants.TestAncestors.test ancestors [0.0800308s] ...:.ok
digraph.test_ancestors_descendants.TestDescendants.test_descendants_no_ancestors [0.0002965] ... ok
digraph.test_astar.TestAstarDigraph.test astar null_heuristic [0.000306s] ... ok
digraph.test_avg:shortest_path.TestAvgShortestPath.test_simple_example [0.000479s] ... ok
digraph.test_avg: shortest_path.TestAvgShortestPathAsundirected.test disconnected graph [0.800438s] ... ok
digraph.test_avg_shortest_path.TestAvgShortestPathAsUndirected.test parallel_grid [0.021085s] ... ok
digraph.test_avg_shortest_path.TestAvgShortestPathAsuUndirected.test partially_connected_graph [©.0003485]
digraph.test_centrality.TestCentralityDiGraph. test_betweenness_centrality [0.000106s] ... ok
digraph.test_centrality.TestCentralityDiGraph.test betweenness_centrality_endpoints [0.600089s] ... ok
digraph.test_centrality.TestCentralityDiGraph.test betweenness_centrality_parallel [0.000152s] ... ok
digraph.test_centrality.TestCentralityDiGraph.test betweenness_centrality_unnormalized [0.000084s] ... ok
digraph.test_centrality.TestCentralityDiGraphDeletedNode. test_betweenness_centrality [0.000090s] ... ok
digraph.test_centrality.TestCentralityDiGraphDeletedNode. test_betweenness centrality endpoints [0.000078s]
digraph.test_collect_bicolor_runs.TestCollectBicolorRuns.test_color_with_ignored_edge [0.080092s5] ... ok
digraph.test_collect bicolor_runs.TestCollectBicolorRuns.test_filter_function_inner_exception [©.0000965]
digraph.test_collect runs.TestCollectRuns.test_cx_h_cx [0.000090s]..:: 0k
digraph.test_collect runs.TestCollectRuns.test empty [0.000068s] ... ok
digraph.test_collect_runs.TestCollectRuns.test multiple successor_edges [0.800079s] ... ok
digraph.test_complement.TestComplement.test empty directed [0.000128s] ... ok
digraph.test_compose.TestCompose. test_edge-map_and_node_map_funcs_digraph_compose [0.8001265]
digraph.test_core_number.TestCoreNumber.test directed all 3 [0.0600102s] ... ok
digraph.test_deepcopy.TestDeepcopy.test deepcopy with_holes [0:800127s] «... ok
digraph.test_deepcopy.TestDeepcopy.test_isomorphic_compare_nodes_identical [©.000182s] ... ok

Captured traceback:

Traceback (most recent call last):

File "/home/saasha/SublimeText/rust/retworkx/tests/generators/test_triangular_lattice.py", line 27, in test_triangular_latti
self.assertEqual(edge_list, expected_edge_list)

File "fusr/lib/python3.8/unittest/case.py”, line 912, in assertEqual
assertion_func(first, second, msg=msg)

File "fusr/lib/python3.8/unittest/case.py’, line 905, in _baseAssertEqual
raise self.failureException(msg)

AssertionkError: <retworkx.EdgelList object at-@x7fiisd274200> '= [(6, 1), (1, 2), (3, 4), (4, 5), (@, 3), [58 chars], 7)]

- Passed: 1392
- Skipped: 7
Expected Fail: @
- Unexpected Success: ©
=pFailed: 2
sum of execute time for each test: 27.0069 sec.

- Worker (354 tests) => O: 893887
- Worker (331 tests) ==> 0:00:06.631177
- Worker (358 tests) => 0:00:06.497769
- Worker (358 tests) => O: 294054
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